

## УРОК 25

Тема уроку. Досліджуємо задачі на знаходження третього числа за сумою двох чисел

$$9 + 8 = \overset{10}{\boxed{9 + \boxed{\phantom{0}}} + \boxed{\phantom{0}}} = \boxed{\phantom{00}} + \boxed{\phantom{0}} = \boxed{\phantom{00}}$$

$$11 - 6 = \overset{10}{\boxed{11 - \boxed{\phantom{0}}} - \boxed{\phantom{0}}} = \boxed{\phantom{00}} - \boxed{\phantom{0}} = \boxed{\phantom{0}}$$

$$9 + 9 = \overset{10}{\boxed{9 + \boxed{\phantom{0}}} + \boxed{\phantom{0}}} = \boxed{\phantom{00}} + \boxed{\phantom{0}} = \boxed{\phantom{00}}$$

$$13 - 8 = \overset{10}{\boxed{13 - \boxed{\phantom{0}}} - \boxed{\phantom{0}}} = \boxed{\phantom{00}} - \boxed{\phantom{0}} = \boxed{\phantom{0}}$$

$$8 + 7 = \overset{10}{\boxed{8 + \boxed{\phantom{0}}} + \boxed{\phantom{0}}} = \boxed{\phantom{00}} + \boxed{\phantom{0}} = \boxed{\phantom{00}}$$

$$12 - 8 = \overset{10}{\boxed{12 - \boxed{\phantom{0}}} - \boxed{\phantom{0}}} = \boxed{\phantom{00}} - \boxed{\phantom{0}} = \boxed{\phantom{0}}$$

$$7 + 7 = \overset{10}{\boxed{7 + \boxed{\phantom{0}}} + \boxed{\phantom{0}}} = \boxed{\phantom{00}} + \boxed{\phantom{0}} = \boxed{\phantom{00}}$$

$$12 - 9 = \overset{10}{\boxed{12 - \boxed{\phantom{0}}} - \boxed{\phantom{0}}} = \boxed{\phantom{00}} - \boxed{\phantom{0}} = \boxed{\phantom{0}}$$

$$9 + 6 = \overset{10}{\boxed{9 + \boxed{\phantom{0}}} + \boxed{\phantom{0}}} = \boxed{\phantom{00}} + \boxed{\phantom{0}} = \boxed{\phantom{00}}$$

$$14 - 9 = \overset{10}{\boxed{14 - \boxed{\phantom{0}}} - \boxed{\phantom{0}}} = \boxed{\phantom{00}} - \boxed{\phantom{0}} = \boxed{\phantom{0}}$$

$$8 + 6 = \overset{10}{\boxed{8 + \boxed{\phantom{0}}} + \boxed{\phantom{0}}} = \boxed{\phantom{00}} + \boxed{\phantom{0}} = \boxed{\phantom{00}}$$

$$15 - 7 = \overset{10}{\boxed{15 - \boxed{\phantom{0}}} - \boxed{\phantom{0}}} = \boxed{\phantom{00}} - \boxed{\phantom{0}} = \boxed{\phantom{0}}$$

$$6 + 6 = \overset{10}{\boxed{6 + \boxed{\phantom{0}}} + \boxed{\phantom{0}}} = \boxed{\phantom{00}} + \boxed{\phantom{0}} = \boxed{\phantom{00}}$$

$$11 - 8 = \overset{10}{\boxed{11 - \boxed{\phantom{0}}} - \boxed{\phantom{0}}} = \boxed{\phantom{00}} - \boxed{\phantom{0}} = \boxed{\phantom{0}}$$

$$12 - 7 = \overset{10}{\boxed{12 - \boxed{\phantom{0}}} - \boxed{\phantom{0}}} = \boxed{\phantom{00}} - \boxed{\phantom{0}} = \boxed{\phantom{0}}$$

$$7 + 6 = \overset{10}{\boxed{7 + \boxed{\phantom{0}}} + \boxed{\phantom{0}}} = \boxed{\phantom{00}} + \boxed{\phantom{0}} = \boxed{\phantom{00}}$$

$$8 + 8 = \overset{10}{\boxed{8 + \boxed{\phantom{0}}} + \boxed{\phantom{0}}} = \boxed{\phantom{00}} + \boxed{\phantom{0}} = \boxed{\phantom{00}}$$

$$12 - 6 = \overset{10}{\boxed{12 - \boxed{\phantom{0}}} - \boxed{\phantom{0}}} = \boxed{\phantom{00}} - \boxed{\phantom{0}} = \boxed{\phantom{0}}$$